AMA 16100
EXAM 2 Formi A
Octoberber 23, 2014

NAAME YOUR TA'S NAME
STUDENT 1D # RECITATION TIME
1. You must use a #2 pencil on the mark sense sheet {answer sheet).

10.

11.

If the cover of your question booklet is GREEN, write 01 in the TEST/QUIZ NUMBER
hoxes and blacken in the appropriate spaces below. If the cover is ORANGE, write (12 1n
the TEST/QUIZ NUMBER boxes and darken the spaces below.

On the mark-sense sheet. fill in vour TA’s name and the cowrse number,

Fill in your NAME and STUDENT IDENTIFICATION NUMBER and blacken in the
appropriate spaces.

. Fill in vonr four-digit SECTION NUMBER. If you do not know vour section nuber,

please ask your TA.

Sign the mark scuse sheet,

. Fill in your name and your instructor’s name on the guestion sheets above.

There are 12 questions, each worth & points (you will automatically earn 4 poiuts for
taking the exam). Blacken in vour choice of the correct answer in the spaces provided for
guestions 1-12. Do all your work on the question sheets.

Turmn iu both the wmark sense sheets and the question sheets when vou are finished.

1f you finish the exam before 7:20, you may leave the roomn after turning in the scantron

sheet and the exam booklet. If vou don’t Anish before 7:20, you MUST REMAIN SEATED

until your TA comes and collects your scantron sheet and yvour exam hooklef.

NO CALCULATORS. PHONES. BOOKS. OR PAPERS ARE ALLOWED. Use the back

of the test pages for serap papor.



EXAM POLICIES

Students may not open the exam until instructed to do so.

I R

Students must obey the orders and requests by all proctors, TAs, and lecturers.

-

No student wmay leave in the first 20 min or in the last 10 min of the exanm.

e

Books, notes, calculators, or any electronic devices are not allowed on the exam, and
they should not even be in sight in the exam roon. Students may not look at anyhody
clse’s tost, and may not communicate with anybody else except. if they have a question,
with their TA or lecturer.

. After time is called, the students have to put down all writing instruments and remain
in their seats, while the TAs will collect the scantrons and the exams.

[ ]

6. Any violation of these rules and any act of academic dishonesty may result in severe
penalties.  Additionally, all violators will be reported to the Office of the Dean of
Students.

I have read and understand the exatn rules stafed above:

STUDENT NAM:

STUDENT SIGNATURE:

(W]



. , {
2. Find the derivative of y = (& ~ 3)(77) at « = 2. Note that ;—((_L‘f) = {lnu)a®
r

AL 196

B. 196 — 4917
C. 1961n7

D. 196+ 4917
E. 49



3. Find 3 if y = sin(x?).

A. 2cos(x?) — da?sin(a?)
B. cos(z?) — sin(r?)

C. 2z cos(a?) — dr? sin(e?)
D. 22 cos(x?) + 22 sin(r?)
E. —sin(x®)

o o tan?(20
4. TFind the lmit: lim — (2¢)

r=0 sin?(3w)

9/4
2/3
4/9
3/2
1

=Y aw e



5. Find the slope of the line tangent to the curve given by the equation

tan(ey) = 8y* — sin.e

7 1
at a point (z,y) = (3, -5).
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6. Find the derivative e when y = ™"
dr

d_y sinm—1

A,

o (sina) -2
dy
i
C. &y = (sina) - &N (Ing) - ¥ - cos
dr

dy

(lna)-a™® . cosr

L= i (In a4 sine)
du '
dy

e 3 1
— = ar . (cosa + 7)

M4}



7. Find the slope of the line tangent to the graph y = &(ln x)* when @ = ¢.

o N w >
+
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8. If the radius of a circular ink blot is growing at a rate of 3 cin/min, how fast (in em?®/min)
is the arca of the blot growing when the radius is 10 cm?
A 307

600w

20w

60w

300w

a
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9. Which of these is equal to sinhx coshx?

. % sinh 2.0

A
B. f—;_sinh 2
C. sinh 22
D
E.

. 2sinh 20

4 sinh 2x

10. There is 100 grams of a cortain radioactive element at noon. At 2:00 PM there is 50
grams. How much will there be at 3:00 PAY

A. 100332 oragng

1006316 02 gqing

1000038 M2 gramg

1003912 grams

S 0w

10063212 grams

=1



11. Let f(z) = sinh{cosx) — cosh(sin ). Find the exact value of f/(7/2).

¢ — ¢t

12. A street light is monnted at the top of a 15-ft-tall pole. A man 6 ft tall walks away from
the pole along a straight path. The tip of his shadow is moving at the speed of 5 ft/s
when he is 40 £t away from the pole. How fast is the man walking at that instant 7
A4 ft/s

5it/s

3.

— ft/s

40 /

3 ft/s
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1
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